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Instructions : (1)  All questions carry equal inar.l(s-.

(2)  Please state question number in column which you aré.answering

l.  (A) Explain difference between Investment and Speculation.
'OR

Explain difference between Futures and options.

(B) Answer any two of the following :
(1), State any four objectives of investment,
(2) What1s meant by put-option ? =, ot
(3) What is meant by Hybrid Secunty 2

(C) Answer in short re

) What is meant by Derwmwes ’

(2) What is meant’by Treasury Bills ?
(3) What is meant by Mutual Fund Close-ended Scheme ?

D

(A) Explain role of Securities Market.
‘OR

Fc}lluwmg, ; details relates to the Security Market Price and Bnmbay Stock Exchange
Index between the two time period.

As per ‘Rise over Run’ method, calculate Beta Value of the securlty

Particulars Opemng condition | Closing condition
' > 2
Market Price of Equity Share 860 1,250
Bombay Stock Exchange Index 16,540 317,220

(B) Answer any two of the following :
(1) What is meant by Company analysis ?
(2)  What is meant by Industry analysis ?
(3) ' State forms of Efficient Market Hypothesis.
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(C)

3. (A)

(B)

(C)

Answer in short :

(1)  What is meant h_}r floating rate bonds ?
(2) What is meant by Zero coupon bonds ?
(3)  What is meant by Systematic risk and unsystematic risk ?

Explain William Sharpe’s Modern

OR
Following details relates to the expected eaming on the equity share uader

Portfolio Theory. _ 7

probability of three state of market expectations :
Situation Probability Expected Rate of
Return
Good 0.3 30%
Moderate 0.6 14%
Bad 0.1 - 8%

Answer the tollowing questions - ~
(1) Find out Expected Rate of Return of the security i.e. E(Rs).

(2)  Find out standard deviation of the retumn on'the security i.e. ..

Answer any two of the following : -
(1) Who developed Arbitrage Pricing Theoryin year 1976 ?
(2)  What is meant by portfolio diversification”

(3)  As per Treynor method, state formula of Treynor Index.

Answer in short :

(I) What is meant by Security Market

?

Reports ?

(2) State any three benefits of invest in mutual fund portfolio.
(3) As per income typ€ mutual fund, what is allocation form of fund between

Debt and Equity.

4. (A) Explain assumptions of Capital Asset Pricing Model (CA PM).
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The following details relate to the

conditions :

OR

Risk Free Return (Rp) =6.5%
Returtis on Market (R,)=16.5%
Beta of Security ABC(B A) =04
Eeta of Security '(BB}}(YZ =25

As per CAPM Model. answer the follow

tWo securities ABC and XYZ and the market

(1) Calculate the €xpected return on security ABC and security XYZ.



(B)

(©)

Answer any two of the following :
(1) What is meant by Efficient Frontiers 9 N

(2) What is meant by Capital Market Line (CML) ?

(3) What is meant by maximization of p
vortfolio risk? orttolio return and minimization of

Answer in short :

(1) What is meant by Security Market Line (SML) ?
(2) State any two demerits of CAPM.

(3) In which theory of the portfolio management takes into account the multiple
factors a‘rtectm;, the secunty prices.

[n the following sub- questlﬂns more than one nptmns are given, select the n;,ht options.

'(One mark each) : . Y SN 14

(1)

2)

(3)

(4)
(5)

(0)
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One of the following is not characteristics of the security selection process 3
(a) To select the maximum numbers of securities. '

(b) Sector selection.

(c) Decision about allocation of funds among equity and debt securities.

(d) Selection of the specific securities.

One of the following is not the functional classification’of the capital market :

(a) Efficient Market (b) Pﬁljlary Market

(¢) Secondary Market ({i) Capital Market

SEBI does not do one0f the following :

(a) It regulates the primary market through regulating public offer of securities.
(b) Tt regulates secondary market deals at stock exchanges. s

(c) Itacts as ajudiciary for setting disputes in the stock market.

(d) 1t regulates the operations of various bodies involved in the capital market
transactions.

The market for securitics does not provide the market for one of the following :
(a) * Warrants (b) Insurance policies
(¢) Equity shares | (d) Preference shares
One of the following clarifies risk of a Beta value of a return on security
(a) Business Risk (b) Total Risk
(c) Systematic Risk (d) All of the above

One of the following formulas shows the equity valuation based on Sharpe’s Single
Index Model :

D _ . -
(a) Kl (b) Market Price/Book Value

¢~ g

(¢) P/E Multiplier | (d) Rt‘+ BH (Rm H Ri)
| | .



h following is considered as a father of technical Analysis -
e (b) William Sharpe
(d) Charles Dow

(7) One of ;
(a) Harry Markowlitz

Stephen Ross | ‘ .
g )e of thi; following does not include in the form of efficient market :
n

(b) Strong form
(d) Semi-weak form

(8) |
" (a) Weak torm

(c) Semi-strong form . |
Under the high inflation rate economy, one of the following bond investment is

(9)

preferable : |
(a) Bearer Bond (b) Cnnv.ertlble Bond
~ (¢) Zero Coupon Bond .. (d) Floating Rate Bond
(10) One of the following is not the true value of cqefﬁciunt of co-relation.
(a) . =] (b) +1
- (¢) 0 (d -25
(11) The fund allocation of income funds is presented by one of the following :
(a) 100% Debt Securities (b) 100% Equity Securities

(c) Debt: Equity=90%:10% (d) Debt: Equity =50% : 50% -

(12) The portfolio theory was developed in year 1957 by one of the followin g thinkers :
(a) William Sharpe (b) “John Maynard Keynes
(¢) Harry Markowitz (d) « StephenRoss

(13) The expected return on a security under three market conditions are 50%, 30%,
10% with respective probability assignment of 0.2, 0.7 and 0.1, the expected

average return on seeurityds one of the following :
(a) 27% (b) 32%
(c) 28% (d) 29.5%
(14) Ifﬁsk free rate of return (Ry)'1s 12%, expected rate of return (Rm) is 18% and Beta
value (B,) is 1.2 then Capital Asset-Price will be one of the following :

(a) 18% (b)) 19.20%
(c) . 12% (d) 84%
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